N Correct
0 Question Optionl Option2 Option3 Option4 Option
All discipilanry matterrs pertaining to the admn.sections have |Finalised by Approved to agreed on Referred by
to be----------- the Head Human Resources .
1 1
Select the most appropriate antonym of the given word. Liberty Imprisonment Cheer Offence
2|Captivity 1
Identify the mistake in given sentence:-No sooner did (1)/the |No sooner did The thief see Thepolice man He ran away
thief see (2) / the policeman when (3) /he ranaway (4) when
3 3
Despite all its minerals wealth,Bihar remains by the untouched,effectiv [unmoved,appare |plagued,chronic |aroused,planned
lack of industrial development and other evils of economic e nt
4|backwardness 3
Tourism continues to ------- a major part of Jammu &Kashmir's--{remain,future play,revenue game,constitute |[constitute,prosp
5[---- erity 4
spot the error in the given sentence:Five gallons of A B C D
6|petrol(A)/are not(B)/ enough to cover(c)/the distance (D) 2
Identify the relative synonyms for the word given: derivate normal abnormal minute
7]|Anomalous 3
Identify the relative synonyms for the word given: understanding admiration pervasiveness |assimilating
8|Renowned 1
Choose the option which can replace the bold part of the |There was a lot of | There was a lot |There were a lot |No correction is
sentence: There were a lot of noices in the classroom and | |noise of noises of noise required
9|could not concentrate 1
Choose the option which can replace the bold part of [worked hardly all |has worked have worked has worked
the sentence: M.y mother and father have worked their llives harrd all their  [hard all their hard all his
10[hardly all their lives lives lives lives 3
Orbital Science
11{Elon Musk is the founder of SpaceX Corporation Virgin Galactic |Boeing 1
The two famous Universities of Oxford and Cambridge are
12]located in which country France USA UK Italy 3
Articles 324-329 of the Indian constitution deal with Minorities Powers of
13|which of these aspects Election Protection Panchayata governor 1




Currently, what is the highest percentage slab of GST in

14(India 18% 25% 28% 12% 3
Haemoglobin is the protein inside red blood cells that
15|carries Oxygen Carbion dioxide [Nitogen Ozone 1
In certain code "CLASSIC" is written as "DKCQVFG".
16|How would "THINGS" be written in this Code? UGKPJP UKLLJP UGKLIJP UKLIJJP 3
Three of the four are alike in a certain wayand so form a
17|group.Which one that does not belong that group. Bihar Rajasthan Madhya Pradesh [Goa 4
18(Write the next number in the series : AZ,BY,CX,DW EW EV FwW FV 2
19(Write the next number in the series :15,20,50,90 200 180 190 170 3
20|Find the odd - man out: Crane Man Girl Tiger 1
21(8.7x0.87+2.3+18.8=? 28.669 2.8669 28669 286.69 1
22]40.07x1.43=" 57.301 57.31 57.3001 5.7301 3
23|35%0f 30=25%0f ?+1 28 38 42 32 2
A profit of Rs.30000 is to be distributed among A,B,C in the
proportion 3:5;7 respectively.What will be thedifference between
24|B's and C' amount. Rs.2000 Rs.4000 Rs.10000 Rs.1330 2
The average salary per month of 30 emplyoees in a institute is
Rs.4000. If the Officers salary is added, the averge salary
25]increase to Rs.4300.What is the salary of the Officer Rs.10000 Rs.13000 Rs.12000 Rs.13300 4
Which Fundamental Rule imposes a restriction on a
Government servant,whose duties involve carrying out scientific
26]or technical research from applying for patent for an invention |FR48 FRA48-A FR49 FR50 2
Foreigh employer The
with the sanction Consolidated
The salary of Government servant who is in foreign service is Consolidated of fnd |of the Consolidated fund [fund of a Union
27|paid from. of Inda Government of State territory 2
EXOL without MC
Which of the following periods will not be counted for the pupose more than six
28|of increment? All kindsof duty Joining Time months Foreign serrvice 3
Given---- Current Ratio=2:1, Working capital Rs.60600. what is
29|the amount of current liabilities Rs.30300 Rs.60600 Rs.121200 Rs.90900 2
Under Sec 35(1) (i) IT act a scientific research institute can
claim deduction on the expenditure incurred for research
30(purpose. 100% 125% 150% 200% 3




Accounting information given by compny 'X": total assets
turnover 3 times. Net Profit margin 10%. total assets Rs.100000.

31|the Net Profit is Rs.10000 Rs.15000 Rs.25000 Rs.30000
When the provisions of the Companies Act are violated, the Managing
32|auditor must report the same to the Cental Government |Board of Director |Director Shareholders
Calculate Reserve for doubtful debts from the following
figures:Baddebts for the year Rs.100000. New reserrve
33|requiredd Rs.250000.0Id reserve Rs.150000 Rs.200000 Rs.300000 Rs.500000 Rs.0
Authority
competent to Head of the Finance
34|Who is competent to grant Advance increment? Head of Office create a post Department secretary
What are the items that come under the purview of complsory CGHS CGEGIS
35|deductions from the subsistence allownace? Income Tax Subscription subscription All the above
If the cost of the goods sold is Rs.120000 and the rate of gross
36]loss is 1/4 on sales the amount of sales is Rs.120000 Rs.90000 Rs.80000 Rs.96000
Obataining
permission from
An Ordinary a resolution of the |A special the Comany Law
37|Share capital of a company may be reduced by resolution Board of Director [resolution Board
Calculate PV ratio from the given data: Total fixed cost
38|Rs.25000. selling Price per unit Rs.5,Variable cost per unit Rs.2 [40% 60% 20% 30%
If the rate of gross profit is 25% of the cost and the amount of
39|sales is Rs.300000. then the cost of goods sold will be equal to |Rs.225000 Rs.200000 Rs.240000 Rs.242000
Original cost Rs.1300000 salvage value 100000, useful life 5
years , depreciation for the first year under sum of year digits
method
40 240000 260000 280000 400000
Efficiency of Location of Product of the
41|Following are the factors effecting goodwill except Nature of business |management customers company
unemployement
42|Which of the following is part of National income Scholarship allowance profit old age pension

43

GST rates applicable on goods and services are:

0% 5% 12%
18% 26%

0% 6% 12%
18% 28%

0% 5% 12%
18% 28%

0% 5% 12%
16% 28%




Warranty period +
60 days after

Warranty period

Warranty period

Warranty period
+ 90 days after

Performance Bank Guarantee shall remain valid as per the successful + 60 days after + 90 days after  [successful
44]|GFRs Installation delivery delivery Installation
Contingent
45|Workmen compensation under dispute is an example of Contingent Liability |Assets Current Liability |Current Assets
Public Sectors/
Tender Fee and EMD is exempted in which of the following Government
46(Cases MSME NSIC bodies A&B

Central Psus

Central Place of

Central for Public

Central Public Procurement Procurement of |Procurement
47|CPPP Stands For procurement Portal|Portal Products Portal
48|Salary is defined in .............. under the Income tax act 1961. Sec 16 (2) Sec 18 (1) Sec 19(3) Sec 17 (1)

In a balance sheet, the total of common stock and Common
49|retained earnings are denoted as Common Equity | Due Equity Preferred Equity|Perpetuity
The ratios which reveal the final result of the managerial Long Term
50|policies and performance is Turnover ratios Profitability Solvency A &B Both




